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You must answer THRERE questions 1 this section. Answer ONE iwestioh E/ " 1fro
Modules 1, 2 and 3, You MUST write your answers in the answer booklel provided.

(a)

(b)

(c)

(a)

(b)
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£ "ION B

ki

MODULE 1 T l

Answer EITHER Question 4 OR Question 5.

‘ i

What are'the differences in the fate of pyruvic acid in animals and plants in‘the abser‘
ofox: nand whatis.the ad tage of this fale, lc “ycolysis? © [ 8 mark

Since the non-availability-of oxygen in a typical plant or animal cell affects only 1
terminal (cylochrome) oxidase of the eleclron | isport chain, how does this eventiia
prevent pyruvic acid from entering the mitochondria? - {10 mark

I

of anacrobic respiration ol microorganisms by Hhxﬁuns.

~ plain TWO u
[ 2 mark

Total 20 mark

Describe how ATP and NADPH are produced in the process of photosynthesis.
= [ 8 mar

t

» of pholosynthesis, suggest stralegles that may be employe«

Using your know
i [10 mar]

increase food suppiy.

Glucose is lhe major product of photosynthesis. Describe TWO major uges-of this st
in the plant. S O

Tota}20 mar]
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9. (a) Muake a list of FOUR dilferences belween B- and T- lymphocyles. - . Co
‘ ' ) [ 4 marks]

(b) To whatextent docs the manulaclire of monoclonal nnubodlcs reflectour undcrstandm £
ol a variely of cell mechanisimns? [10 marks].

(c) Whal is a vaccine, and to what extent does il contribute tov s immunity? o
T 6 morks]

IR S . ¢ Total 20 marks -
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‘ END OF TEST .
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